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Choose the correct answer:

1) Let the random process defined by: X(f) = Acos(ayf +©), where, A and w, arc constants, © is a

random variable with a probability density function:
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a) Its mathematical expectation is equal to:
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$) Its autocorrelation function equals:
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¢} The random process X{(f) is :
Kl Not stationary and not ergodic O Strict-Sense Stationary
[ Stationary and ergodic [J Wide-Sense Stationary
2) Consider the hypothesis testing problem in which:
1 1 v-—1
Sra, (01 Hg) = I‘W‘[J'—E) and fpy (0| H )= = TEC‘('T)
a) 1>1/2, the decision regions are :
O For0<y<1 =>decide H; and for1<y<2 = decide Hp
[] decide Hj or Hp in at the range 0< y <1 and decide H) for 1< y<2.
[0 always decide Fj
[ For0<ysl = decide Ho and for1<y<2 = decide Hy
5) The probability of false alarm is :
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M e N N b independent and idonticntty alistebbnited pandonn varlaldes whi dernlty Is
detined by;
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a) The MUV of i is plven by,

S I S I
(1 Dyr= b I I Oysine ) o M thaa=; }__,, of 1) P ) ’y
L n‘-i‘ an i ..’.u‘i"
B The Croumer-Raoo Donnd i o Lol Lo
gl : 0 e 0
[ Den - 1 BCR w — BT - Be -
7 I n M 2 ] ri
4) The Doppler shiflt can be ealenlated wsdog the expression: Af « f, Zveand)
@) W L=2500 e, o= 10 /s, 025" aind S = 1,01567 KLz, s
M v=80 Km/ L] w=200m/s [ [v=28mi [ v=1208mm
B IF £ =250 e, o= 10 mds, v LOOK D amd Sf <0800 KLz, 50
[1 o=30° [] o=15° X 0 =20 [] 0 =25

£) Using 3 distributed CA-CUAR detectors (identical cane), the probability of false alain, ushig exponontlal

conditional probability Taws and the “And” Gasion role s glven by the Tollowing expression:
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) 1T N=32 nrul =10 4 the constant mltiplicr Fequals;

[] 0.3335 [ 07783 [J02118 1 o 1007
) By considering these conditions and setting =25 B3, the detection probabllity bn cqunl e
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